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Fill in the missing words by clicking the forward arrow on your keyboard.

£700,000 30 machines £600,000 break-even output
profit totalcosts totalrevenue £300,000

Cherage Green manufactures printingmachines. Itisimportantfor the business to knowits
,where total revenues and are equal. It sells each machine for

£20,000. Its fixed costs are £300,000 and its variable costs are £10,000. If it makes and sells

itt will break-even. This is where its total revenue of (30% £20,000) is
equal to its total costs of £600,000 ( +[30 x £10,000]). This year the business
produced and sold 40 machines. It made a of £100,000 as its (800,000)

was greater than its total costs )






